MBI R A LR/ N O7TEAERE TR 5 7 BAEFRRREGTR ANEL147+1A
;‘j 3H25H 2 3H26H 2= 35278 2= 3H28H AT 3298 2T
Gt = e 2= %ﬁﬂ BT HE | BT 2= %ﬂ BT 2= %ﬁ|‘§ﬂ%ﬁ~ e
F AR ER) + KGR ER ke - HoKER
<L I7>(350] U TR ER(S] 48|  |@aEEE 0.6KG| [EM SKG| o[BG 1KG
JNEETR 3KG z= A ZEE %% 1KG FRAT <KZ> 6KG = Z2hH 0.2KG
it |ALEEART IKG| ¥E - (g™ 30KG| F [_LEAIT <KZ2> ]5M}% ATHRML 0.1KG
F | ¥ |ZHT(CAS)<EfE>| v 10KG 1t 1 A 0.2KG| Ji. i SRS (PIER) <R > 2.4KG
| o= I5a . LR ZF 4KG| B g Ee=ETS N 0.5KG
7 B = 2 14| B4 [ onmsn 18
B E7 0.1KG O | EEGEER KR 215
TRAG AL 4KG B <iE > 14
£ HZEE/NT 2KG MEEE/NT 1KG - {EEE R 1KG§§%ﬁ 0.3KG : FEE 0.5KG
il EFHRI(CAS)K)<! 20| g |ERENT 3KG B FRAR <KZ> 2KG o HEME TKG| #F |PEEE <R 8KG
Bl |, [BEFTERER0 8KG| & |BEHICLE)<ERE 2KG| o [BIERCAS)IKIFEREN 118 o | EASROIBR K> 1L5KG| %
£ % F |EKRCASUKE v 5B g - 73
Lk B Bk 2KG| 4 9 E
5|2 |xE 0.61@75%“ Fl Az / 10KG ?g? 02KG| = [Figami 8KG
% | 2 |ussEEE) |V 10KG| g o [E e 8KG| s
' & B4k 0.1KG . B 0.3KG £ 4TEEEAR IKG| |B& 0.1KG T FEI<EBRE>(0.6K 26,
k- 3t L EEE %% 2KG B HE(THE). 6KG el £565(3002) 163 s B 0.3KG =) N 3KG
’;3; A | RE4 0KG| B |EEaEA> 3KG| A | ARE&ED0.6K) L | W | 1F SKG| %
@ |esti sxq| T R RpsATE 3KG|
L D 0.6KG| 7 7 7 DGR+ NTEL 26N
i ush| 8 |meE-xue 4sin| M B GREtE) < s> s |WeEg B AR wA| B |EEALoEE>Q00] 1220
3663 4986 6825 &t 2797 =t 3892
Be e e Be e
B YERI e IERI e IR WE IgR e JER i
* SEE 34 SRR 46 SRR 53 SEE 52 LIRS 54
g TREAE 33 TRENE 26 TRENE 138 TRENE 29 TRENE 22
ol SRS 3.1 HAESE 3 HAEIE 25 RS 3 HASE 25
N FREE 15 s 1 i 07 I 14 iRE 12
e A K 1 AN 1 KB A5IE |
EhE(KF) 663 HECKD 737 EHE(KF) 756 EhE(KF) 752 HERET) 806
B EALCEARAE PATHE: FE - BE s
b & M LS

B REEERN—BARIEIG IR OREEAME ZEAREARADRENT:
1 ¥EREHe  EEBRERERBERS  AREGTHRRE -
2. EBIIHHBE TR R °




